

ЗАДАЧА

$$\log_3 2^{a_1}; \log_3(\sqrt{3}-1)^{a_2}; \log_3(2-\sqrt{3})^{a_3}$$

$$a_2 - a_1 = a_3 - a_2$$

$$\log_3(\sqrt{3}-1) - \log_3 2 = \log_3(2-\sqrt{3}) - \log_3(\sqrt{3}-1)$$

$$\log_3\left(\frac{\sqrt{3}-1}{2}\right) = \log_3\left(\frac{2-\sqrt{3}}{\sqrt{3}-1}\right) \text{ - УСЛУЖИМ НЕОДНОЗНАЧНОСТИ}$$

$$\frac{2-\sqrt{3}}{\sqrt{3}-1} \cdot \frac{\sqrt{3}+1}{\sqrt{3}+1} = \frac{2\sqrt{3}+2-3-\sqrt{3}}{3+\sqrt{3}-\sqrt{3}-1} = \frac{\sqrt{3}-1}{2}$$

ТАК СЯ СІАБЛЕП  
АНТИМЕТРИЧНО

$$\log_3\left(\frac{\sqrt{3}-1}{2}\right) = \log_3\left(\frac{\sqrt{3}-1}{2}\right)$$